
Y5300000-00-01

Y5-300000-00-01

Y5-30 MIRROR
ASSEMBLY

.1 [2.5]

.01 [0.25]

.005 [0.13]

0°30’

125

1:2

E1 2

Fuhrmann 4/7/97

Benson/Fuhrmann

C.Benson

D. Shu

 T.M.Kuzay

5.  DEFLECT APPROX. 75% OF ORIGINAL STACK HEIGHT.

TO 3 km (OPTIMIZED FOR 3.5 TO 7.5 km)

DISTANCE TO SOURCE

ABSORBED POWER DENSITY

TOTAL POWER

TO OPERATE

BEAM SIZE

BENDER

SPECIFICATIONS
CONTRACT NO.

ADAPTIVE COLLIMATING MIRROR

MIRROR SIZE

MIRROR MATERIAL

MAXIMUM ENVELOPE

BENDING RADII

VACUUM COMPATIBILITY

APPROXIMATE

BAKE-OUT TEMPERATURE:

1000 X 60 X 58 mm

150° C

8

P.O. BOX  3296

414-796-2200

ASSOCIATED SPRING-RAYMOND

NEW BERLIN, WI 53151

MDC VACUUM PRODUCTS CORP.

FAX: 1-510-887-0626
1-800-443-8817
HAYWARD, CA. 94545-1651
23842 CABOT BLVD.

37 MILL ST.
P.O. BOX 68

UNIONVILLE, CT 06085
FAX: (860)-673-5398

THOMSON PRECISION INC.

PHONE: (860)-673-2534

3

2

1

VIEW B-B

VIEW A-A

SECTION E-E

(20.13 [511.20])

(11.76 [298.77])

(0.26 [6.67])

8    Y5-300008 KINEMATIC SUPPORT PLATE, SINGLE SST 1

7    Y5-300007 KINEMATIC SUPPORT PLATE, DOUBLE SST 1

6    Y5-300006 MOUNTING PLATE SST 1

5    Y5-300005 KINEMATIC PLATE SST 1

4    Y5-300004 KINEMATIC PLATE SST 1

1    Y5-300001 CENTER CHAMBER WELDMENT SST  1

2    Y5-300002 LEFT CHAMBER WELDMENT SST 1

3    Y5-300003 RIGHT CHAMBER WELDMENT SST 1

17   191054 GASKET, WIRE, 22" WIRE NOM. COPPER 2

10   9132005 10 PIN CONDUCTOR WELDED TO 2-3/4 CF STSTL / ALUMEL 1

16   191013 GASKET, 6" CF NOM. OFHC COPER 1

18   190020 BOLT, SET, 5/8-18 x 3-1/2" STSTL 3

15   190045 BOLT, 12 POINT SET, 5/16-24x2" SST SILVER PLATED 1

11 KAPTON WIRE, 600mm LG, WITH ALUMEL TC-CRIMP-PUSH CONN. 10

9   MRX05/010-NOM1 SESO MIRROR, ADAPTIVE, 1000mm LONG  SEE SPECIFICATIONS 15

14   110025 FLANGE, 6" OD, BLANK, NR STSTL 304L 1

2

2

5110 N. ELSTON AVE.

PHONE (312) 286 3366
CHICAGO, IL 60630

JERICO, INC.
(CARR-LANE)

5 SOSIETE EUROPEENNE DE SYSTEMES OPTIQUES

PHONE: 33 4 42 16 85 00

305, RUE LOUIS ARMAND-B.P.
55 000-13792-AIX-EN-PROVENCE CEDEX 3

4

FAX: 33 4 42 16 85 85

SECTION D-D

ANL DOCUMENT #AMS 2685C.
3.  FOR COMPLETE WELDING SPECIFICATIONS, SEE

ANL DOCUMENT #410201-00095.
REQUIREMENTS, TESTING AND DELIVERY PREPARATION, SEE

2.  FOR COMPLETE SPECIFICATIONS ON MACHINING, CLEANING, VACUUM

    PROHIBITED.  USE EITHER TRIM SOL OR CIMCOOL 5 STAR 49 OR
   SULPHUR-BASED CUTTING FLUIDS AND ABRASIVES IS
1.  WHEN MACHINING VACUUM PARTS, THE USE OF SILICONE,

4.  DIMENSIONS IN BRACKETS [  ] ARE MILLIMETERS AND FOR REF. ONLY.

APPROVED EQUAL LUBRICANT.

NOTES:

21

25

20

19

25 Ø.7500 ABMA GRADE 25 SS BALL SST 440 33

6

5

ZERODUR WITH 300 A PALLADIUM COATING

INSULATOR SEAL INC.6

XXX203-582-6354

XXX18 MAIN STREET
XXXBRISTOL, CT. 06010

22    B0750-034-S .380 ID .750 OD BELLEVILLE SPRING SST SILVER PLATED 401

19 SCREW, SOC HD CAP, 1/4-20x1", VENTED SST, SILVER PLATED 23

12   190045 BOLT, 12 POINT SET, 5/16-24x2" SST SILVER PLATED 1

13   191013 GASKET, 6" CF NOM. OFHC COPER 1

20 SCREW, SHC, 5/16-18x1-1/4", VENTED SST, SILVER PLATED 4

21 SCREW, SHC, 3/8-16x2-1/2", VENTED SST, SILVER PLATED 4

23 WASHER, FLAT, 3/8" NOM. SST, SILVER PLATED 4

24 WASHER, LOCK, HI COLLAR, 5/16" NOM. SST, SILVER PLATED 4

2

2

2

2

2

22
23

24

26   Z1-210000 Z1-21 FIXTURE ALALY 1

27   Z1-500000 Z1-50 FIXTURE SEE ASSEMBLY 1


